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TAPH TR = (IR)3

SH TP WIOd = (3)3 = 27 94 1. 3.

T AP ARG =(4)3 = 64 T9 &1, T,

O TP ARG =(5)3 = 125 99 1. .

TAC, T9d AP TR0 = 27 + 64 + 125 TA . . = 216 Ta G, .
T TARA A Ol X T, x3 = 216 . .

A1, X = 6 . .
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AT+ T - [, 1 (2410 Q@19TIR) ~IR6 91 ORI |, 2 (J1R. ") CNMaR 207 | [512. V 2h + 57 +
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PR | 3RO QT \3 FT FHR '@ 11 ! IR FACE | ANACP MO @R (T AGTE ST
AT - THATSY (MO STIfeRR) R , SR @)1 , 5719 \3 fopR | TR 25170 ez et
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IGHIA GIPIRFCD IR I 9 SR AT FKIH DRI \3 (ARG S [Rpe Seomd
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AT : GNK FHOT AP I /i | A0 ONK @iferd wexT | w®ifaq iAo F9f 2 99 | <15
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IIT -

7370 STRATH QTP = ANG x SLALD
50V = by x SLALY
SIS = Y0y = S

12) Fill in the blank: You should......... swimming.
1)
takes off

v 2)
Start up

3)
get off

4)
take up

YT : @Al Start up 99 AL @PTARPE, TP P11 5Te] BT 1A you should start up
swimming IF7 A AT ; (OTAR VoK SF IT BHO |

13) Choose the correct spelling -

1)
Suname

2)
Sunamee

v 3)



Tsunami

4)
Sunami

M : Tsunami = STt

SR T 2R Sfeeee! 1 R AP ATO Siao IR 576 21— XIRG Te e o
TERTRT 201 I 2T @051 g BoRAETR \39 R (08 17 W MG e O AT
A

14) 'He was taken to task' Q< J1&1 AAT-

1)
TP IS (T B

2)
TP ISR Ty I T2

3)
& 1 facaes

v 4)
O o< 311 e

I : "He was taken to task" - a3 1A IEAT - BIP fOIB TR IAT TG |
Take one to task a3 idiom IR WY FTEF SIGIR RoIFTR 1| IFYL passive
sentence 1 QT IR WY OIF FOIZTR AT AT |

15) 'The baby is always smiling' Q< 11 QIGI™ ATT-
1)
D STz T

2)
Piafor gre Tfows o

v 3)
BRIERERINIGQrivi el

4)
1t ssTEs T



AT : "The baby is always smiling" J3 IS TR™ T - K1t goa 77 @i’ @z

16) Which word is not a noun?

1)
Simulation

v 2)
Defame

3)
Indemnity

4)
Articulation

4 : Defame is a Verb and defamation is noun.

Meaning: to damage the reputation of a person or group by saying or writing
bad things about them that are not true

Synonyms

besmirch, denigrates, mearsully, formal

Antonyms: commend, compliment, flatter, honor, laud, praise

17) 'Salt of life' stands for-
1)
Sodium Chloride

v 2)
Valuable things

3)
Sorrows of life

4)
Saline water

A : "Salt of life" stands for - valuable things.
"Salt of life" - W idiom IR T FARTE &1 A1 valuable things.

18) Correct passive form' | have to do it'-
1)



It is to be done by me

2)
Let it done by me

3)
It has to be done to me

v 4)
It has to be done by me.

4 "l have to do it" - passive form is - It has to be done by me.

Have to/has to IXT0 active voice & passive voice A “RWER GFa - active
voice A3 object 0 subject 23 + subject TG have to/ has to + be + verb «d
past participle form + by + subject U< objective form G|

19) Fill in the blank: The climate is congenial..... health.
1)
with

2)
on

v 3)
to

4)
for

4 : The climate is congenial - - - - - - - health. Xam1d 00O 'to' T[|

@adl Congenial *=tbd Y appropriate preposition ¥ to IR0 W IR A
G |

20) 'Paradise Lost' attempt to-

1)
Show that the satan and God have equal power

2)
Explain why good & evil are necessary

3)



Justify the way of man to God

v 4)
Justify the way of God to Man

T : Paradise Lost is an attempt to make sense of a fallen world: to “justify
the ways of God to men”, and no doubt to Milton himself. Paradise Lost is an

epic poem in blank verse by the 17th-century English poet John Milton (1608-
1674).

21) Duchess' is feminine of-

1)
Earl

2)
Dramatist

3)
Dutchman

v 4)
Duke

A : "Duchess" feminine is - Duke.
Duchess ™ feminine gender IR O 13 /36T A% Q3 < W5E masculine

gender Duke (I IR A 513 29 | Earl - S *MamIs=om T3 3o G »mat |
Dramatist - di01®R | Dutchman - ST

22) Which one is reflexive pronoun?

Each

v 4)
myself



AN : ACPH subject IR object TIT QP3 W, B subject @ BEY FIN T (TW
pronoun IR0 T AT IBER3 reflexive pronoun I 3| 3T object &1
indirect object &Y 211 I IR0 IO M | Reflexive pronoun a3 T -self T -
selves I& AP |

23) Article is used based on-

v 1)
Pronunciation

2)
Stress

3)
Spelling

4)
Sound

I : Article is used based on - - pronunciation.

Article - Q3 IRTR STYRTO pronunciation I1 SHRK B[ TSP | @Fd - consonant
W3 BHRT vowel U T X a 91 T an T an MA| WRK h - Q3 SHRT G AR a dl
T an X1 an honest, an heir 39|

24) Which is adjective?

v 1)
special

2)
Laugh

3)
Crime

4)
Miser

T : Adjective is 'special'.
Special - =0 adjective IR W KRR, 4RI 77 A1 @1d [esw 1 fafe €7ca 1 Laugh
(verb) - 251, crime (noun) - WY Miser (noun) - 9.



25) "To read between the lines' means -

1)
To suspect

2)
To read carefully

v 3)
To graps the hidden meaning

4)
To concentration

4 : To read between the lines means - to grasp the hidden meaning.

To read between the line 93 phrase IR TG I 2101 | A€ 'to grasp the
hidden meaning'.

26) Choose the correct sentence.

1)
He speaks the English like the English

2)
He speaks English like English

3)
He is speaks the English like English

v 4)
He speaks English like the English

I : the correct sentence is - He speakes English like the English.
English 13 @1 f58 the English ICE ©Y 3D G AT TR TS 3ES GG &

fq0t1 3@ | he speaks English like the English - IR0I WY, 'GY 3 @SR TG 3HMECD
AT 1aning'.

27) Choose the correct sentence.

v 1)
He has been living here for five months.

2)



He live here for five months.

3)
He lives here for five months.

4)
He is living here for five months

I : the correct sentence is - He has been living here for five months.
Present perfect continuous tense Q< AT ST 334 - subject + subject Qg
have been/ has been + & verb + ing + object (I AF) + point of time R
since Y32 period of time AT for + SR SEY |

He has been living here for five monts - GR “If5 I2d TRO AT I PACZ |

28) Which Sentence is correct?

1)
Neither of roads are leading to the railway station.

2)
Neither of roads are led to the railway station.

3)
Neither of roads are lead's to the railway station.

v 4)
Neither of the roads leads to the railway station.

4T : the correct sentence is - neither of the roads leads to the railway
station.

Neither of/ either of WI%& noun/ pronoun plural 23 8 verb X3 singular |

Neither neither of the roads leads to the railway station IR0 Y . 31 70
VBB @S GO e T, B8 (o1 ¥ 791\ G|

29) Fill in the blank: He had written the book before he

1)
Will be retired

v 2)
Retired

3)



had retired

4)
has retired

I : He had written the book before he - retired.

Past perfect tense 4 before U3 [ past perfect tense 13 before YIHE past
indefinite tense |

30) What is the antonym of 'Hybrid'?

1)
Simple

2)
Productive

v 3)
Purebred

4)
Raised

T : the antonym of 'hybrid' is - purebred.
Hybrid - 3T U132 M0 antonym 1 PGS X% T purebred 31 unmixed | simple -
7S K | productive - SN | raised - BT,

31) Which one is the correct narration: He said to me, "May you be happy"?
1)
He said that | might be happy.

v 2)
He wished that | might be happy.

3)
He told that | might be happy.

4)
He reported that | might be happy.



A : He said to me "May you be happy" indirect speech is - He wished that |
might be happy.

Optative sentence W< ¥ direct speech (@ indirect speech 1 RIS s
A® - subject + wish + that + reported speech < subject + might + §¥ verb
(AP O 13 |
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MY ;28 T ST TS FZO A0 O |
N GHEIRCN IR ER GGG TRV o SRR |

33) YO W1 TRFT TR’ A7 AFPART AP-
1)
IR

2)
DT

3)
QRGO
v 4)

T
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34) e oM ARIAT 97 PO A [ 277?
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|
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AT ;T T AR IR TP S Tl - - |
Rifq are 3@ - 781, 3 ses Owa - s
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ARG
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iCieSN]
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Tarefer
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A9
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3)



TR
4)
ST

AT = T - 07 ROAFO1F ¥ . B[R
oo ReIg I3 <=t Y . sIoNe, TERA , IR RO <=1 3R |

37) "PIEF' X[ AR (T ?

3)
TP
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ST

AT 1 7PN X 15D WA BT |
07 AT g A= . 5@, 5@, PR, <Py, <P, Bfera, 397, fpmew, fepneifs, fopamanyy,
TP, Fefafy, 2aea, SR, G, SIS, Fares, ons, Ry, orrefos, senfafd
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Salar
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IR

v 3)
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SISIRISIE]

AT ¢ TP XTI A 20T |
WG DA <A WY T0w15T QI IPTCT JZI5 X T GISISTRTE 1 GreisT] [ |

40) PTATD YIS’ XK % ICORA?

1)
FUT + D

2)
FQ + A

3)
Y + ATO

v 4)
P + AS

AT : "PUTS' X SRR « FHT + AT (FPHT + WO = TFHTH)
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v 3)
offFA
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wARER

AT = A >R RARIOTE X7 @18dT|
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T 2 JCE COTAR IS IPN? WLPIT PR HASH RS |
T3P SR DT (STeRT) Q38 LR WP IRIP I | LGP PIRCP FSH WAIQ "' '
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AT 2 (5 4TY SFO (AP ARPCOd FIYICH AIRHIARGO 20T 1T SR IR0 2, BIP 1T 41
SGf

TR 4T 1 P AT TS G (WP GRS AT ST WIS TS T AT 4R |
@Ed -

WP + AT = WP - BT 5 ATPTANP PIZ?

@ + T = T - TII AR PR @2 |

D + W = I - QA I 7?2

S + 3 = 1 - (OTHR AT W 5 |

46) “BGH ST’ GOIGR I50T (@7?
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XBMATR PRI
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I FRET Q0 TG AT T TTH SFT | SYpbd I AITRG Q SHAFTHD

ARSI (IPT8] ORETH AMb0 | I DA} SCHITST B AR T ICZ- A5 AT
(d»Y), TTHR IO &M (520) , HIETR IR 1Tz FG]IH | N3P 3T DO SIS G oA
- TN (S9VY), TR AT (SpYR), SIRATH 2800 R (5»9) BofIH | SR IR A0
SIS BAANS- TSR IZK 4 (Ypv8), TRP BIEA (Ypubr), IFP ST dl (Ypus) Zofi |
XRMAR PRISK IDO AT BT - FEL TG (dDYR) \3 TSP (YpWe) |
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4)
QP RO BSRCATHT

IR : JIR AR WD Fiorem B

R 201 A3 FTFHPI PIERP FPCTR S (RIPT Ted [T 51k & @ arefere | @
18 1 FHiRcer Toft B @R | 43d 3 ¢’ oy 503 IAEFE Harry potter and the
philosopher's stone \3 Harry potter and the deathly hallows.
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AN : "SI 2300 AR (59QY) ¥NIFG \IFAAR AV FELanored S | ¢ AP
oo A STSRKET (I ORI 5 A3 Boayst I6dT Id 13L P «ifaarr uft og oo
| TAATH Froi “IReam [Row |

50) 'SIREM' XA SR RCoZR @TAI0?
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ST + 3T

v 2)
ST + QYT

3)
5T+ Qe

4)
ST + QFT

AT ¢ 7SI X0 A% RO (ST + Q31 Q, P, 3, 3 IIRA 2/ A P BIF NPT T AR
3R \3 \3 B[ TAFCH TR \3 OR | T : (5T + QT = SIII, 5T + TP = 57D |
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55) IRF T FIORR IR QTHNSIRAGETP S0 T 15?2

1)
R
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4)
LIBIERSIEGI

NN = TG R FREJA I 9T TWTHS AP ST AT - - TSI TS |

AT TTHSIAT T GO IR TTHSRA SRPE | 2053 FIER T Q B0 2APTRIG 2|
218 FEEE &G, oF, wenfa, fodr, @i, oy, B, o, @, c=ai, asE
1 SRR 307 TR 210 T |
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AT : ISR FATOTR TEN 21 #1750 27 5a afPe Y99 |
AR FNTOK QAT ST BT 37 So Qi S5ad e Wik it «ifow 237 \93 99219 da
ST | TR @i #A1d PR TTRP AF DS T |



57) T TIRR 00 ST IR A COR APO 21 IR ?

1)
GGG
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Erica
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E5in|
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S IIERCIRE

AT : TR ISR TS SV RN Pio Ol 31 |

2 FrEYad CRAE AU (7 A1 TR0 v FGETR Y9 (FOIHR Q FBGTeH) MR
TPIS O | #IRIDT O RHIE Y9 - 179 RG] 251 90T ISP [Pio O

VPRI 1R 2w R RoAaPIAT 07T et 21 - SIefifel Y SR d»aR, TRFR JIRAT 53
TR, QL TR - 3R I GNRATO I (T ¢ TSI, doaR | 94d “AF5R ¢p Bt
JRATCPNP PO (T 8 CPFPUII, YA | Y9AR - I ECT PPN 213 JIEATCET Vo (R FPho
G I | FHACTT GO TLT FCARRIT I AR ¢ CPFIRT, YA PG O’ | AU TR
o1 357 331 APTS O b TR, H9AR | AV WIPBT 0T GRS TPis Ol CPFIIAT AR |

58) 3ORCH TP @2
1)

YRGS

v 2)
(XATCOTOTS

3)
afFooe

4)
AR

A : BR5CR TP M a1 ZeTd @ATSIOT|
88 PG IO PICEA RETPd TE. SIHSR IR @ITTIT | [T P DR ST
foreta | f5fd 8¢ ARt J=T T4 |



59) 3BT 3B AR BT CPT UCAT BB 5129 FA 7

1)
Ol

2)
g

v 3)
BTG

4)
T3

AT 2 ORI DO IR TS QAT BOET 5137 AT 3G |
BRI 3B faacad b 6 6P 0T 38R T 139 FRCE S 0 07| 3116 b O |y 3ATS
AT AR TR dTH MO IR |

60) TSIFTICS AP @1 CTR?

v 1)
COqaRe

2)
BTG

3)
G

4)
(RS

I 2 7SS ” Q7 FIeTTdl (BAFIRA |
MaeT S I20T 31 TR ITSHTAT STGATR | MofT (Siesnferrei $od amafeT s
TR0 AR ATOARPOIR DSETAT WAQ (GAFE T |

61) 'CNG' 3 oY -

1)
ST (T

v 2)



PECAS BT ATPTOP ST

3)
FOd 4 DI TR

4)
PRATE dod AR IEI G

TN : CNG - O A - - FECLS AT ATPROD S|
CNG - 9T O X compressed natural gas WRie FHCA FAT ATPROP ST |

62) P 9 D11 Y IR TP M| BIHR R B 00 DI AR | A A7 39 DI AR ?

1)
5¢ TTIT

v 2)
S0 BT

3)
Vo BT

4)
20 TP

AT = A DR, U 97 ANG = X O
SRR, T A7 WG = X OIIT
AIHCO, X + X = Vo

q0, 0 X = Vo
7, X = Voo
a1, X = Yo

HOAIR, ¥ AF A2 YO OIRAT |

63) 0.5 A I5fF I5?

1)
0.5



oRe
v 4)

0.9)

AT 2 0.5 I I5TFET 0,050
o1 BB I TR 0.9

64) a:b=4:7, b:c =5:6 T a:b:c I9?

v1)
20: 35: 42

2)
20:44:35

3)
4:5:7

4)
4:7:6

AT :a: b =4:7 =20 :35[5 € STIAI]
b: c =5:6 = 35:42 [7 9K Q9 3]
a:b;c=20:35:42

65) a+b =5, a-b = 3 X ab Q7 9 F0?
1)

2)
3)

3

v 4)

AT :ab = (a + b)? - (a - b)%/4
=25-9/4



= 16/4
=4

66) >0 Td 2ICA< T V0 Tid BT QP PCET AT AT PO?

1)
80%

2)
€%

3)
0%

v 4)
A%

YT : fPT PRCZ = (D0 - 00) BT = »0 BT
AT 214 = 0*D00/>0
=9¢%

2 ?
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